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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1

qRTeqTell FEAVHH SO WY UF W A SeEd: o |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

Tt U9 & A A & |

All the questions are compulsory.

s q9H 1 IW &1 TS IR J @ e |

Write the answer to each question in the given answer-book

only.

o 3ot & afieifies @vs €, 37 9o % S O 9 & ford
For questions having more than one part, the answers to those
parts are to be written together in continuity.

TR 9 o fel o el ®uR o 6 g @ e / o / TR
B W fewt i % we  wE W o
If there is any error / difference / contradiction in Hindi &

English versions of the question paper, the question of Hindi
version should be treated valid.

T SR ot @ e by s e ol |

_\frite down the serial number of the question before attempting
it.
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Weightage of marks for the quesuon is as follows

" -wa) | 1(i¥x),2t011 | L 20
'm'-a(n) . 12t019=8 .2 _16
GUE-W(C) | 20t023=4 4 16
WU -TM) | 24t025=2 5 10
TS -A® | 26t028=3 —6. 18

8. mmzoﬁzsﬁaﬁmﬁmfﬁmﬁﬁnﬁ% [

There are mternal ch01ces in Questmn Nos. 20 to 28.

g - A
_ . Section - A ﬁ
L. (i)_ 14 %7 It ah
= @ 144 _ o o (B) 169
© 196 - D) 225
The square of 14 will be |
@6 . o oas
e Wf'(x)=6x-2ﬁ£=2w#ma§¢:wmm
@ 8 | | - é
9 10 D) 11
BYputungx 2lnpolynom1al Fx) = 6x-2, the value of . |
A g | o Polynomiay winl be
B) 9
© 10
D) 11
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(i) AR /R 2;;2' +x+ kﬁw‘ws%ﬁ‘r kwqﬁm

@ o1z By 2

€ 24 o N | D) -21

If 3 is a zero of polynomial 2x2 +x+ Kk, tﬁen value of kwﬂlbe
@ 12 | .‘ . | ®) 21

© 24 . | D) -21

2 sin 2 60° cos 60° T A UL

@3 i'(é)"g
© 3 o 1
The'vamé of 2 sin? 60° cos '60°w_i1ibe _ |
w 2 o ® 3
© 2 o 1

ﬁﬁwtﬁm%qﬁﬁ 1ooﬁ\aaﬁ§*@mﬁmwwaﬁwsm% at

@ 100J§tﬁz-( .(3) %gq"fz‘{
‘ : : 200
son:ﬁz; | (D}. 75-:&31_

If from g Point on the ground which is 100 m away fromi the foot of the tower,

the angle of elevation 6f the top of the tower is 60°, then the height of the tower

is
o : : o
(4) 1003 metre . (B) l‘% metre
€©) 503 metr D) 200 metr
€ o 3 e
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In the given figure, DE ||-BC, AD = 2cm,BD 3°mandAE._ |
 measure of ECwill be - 4 cm, then ‘.\
A S5em
€ 7cm
S-09-Maths

(vi)jﬁﬁf%ﬁéﬂiﬂ?%
oW (1, 1 : (_B)'{o,fo_)"
© (0 1) | o (1,0)
The co;J%dinates of origin érg | |
A (1, 1) C c (Bll’ (0, 0)- B
© 1o 1) | - (D)“(l 0)

(vii) St T el DE || BC®, AD= zﬂ’ff BD = 3WWAE 4@ﬁ°r§?r,a‘r.§c
1 T 8
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- Number of.circles which pass through three collinear points is

(A}  one : S , - '(B), two
© zero - ' (D) infinite

(i) ﬁﬁwﬁﬁﬁ'liﬁmmam@uaaw-g'eéaﬁam,ﬁam
(A) Alqi-ﬁ - : | . (B) o
(©) 12#!{'1 . = o (D) 4%

If the height .of d cylinder is' :11 cm and its curved surface area is 968 cm?

then the rac_.lius of _cylfnde;‘ will be
&) 10em : | o B 1llem
(€}  12cm - | | . D }4 cm

) 5,7, 4,8 6 W AAE \
a) 4 S o '(BI'Sj
©) 6 - | D) 7
’l‘he_n{.ean -'of'dismﬁution 5,7, 4,8,6is
w4 - @s
© 6 I (D) 7
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2. g e w7 ST 9% 06 1 T g
Find the square of 96 by usiﬁg “Sutra Nikhilam”, |
3. 1%@%“@%@’.’@313%@{ .
Fiﬁd the cube of 13 by using. ‘;‘éutra Nﬂchilam” oot
4. AR éﬂﬂ 37,11, 15, ... I. T 1179 W T F |

Fmd the 11th term of Anthmetlc Progressmn 3,7, 1 1, 15

5. @Wﬁwmww% rmﬁwsmsﬁ@ﬁmwmﬁwm

A die is thrown once. Find the probability that the number on the die wifj pe 5
: . e 5 0

less than 5. c

3 mm@wmmﬁm@wm&w@wwmé .
o 13
1 AT G ) wirerar 7 T |

A card is drawn at random from a well shuffled geg of 5 -
- 2 cards.
| N . Find th¢
Probability of jig being a king. | |

7 ‘Fﬁﬁéﬂ'mwmmf

Write the equation of ‘StoppingDistanée "




10,

11,

12

13.

14.

Rs. 11, then find the total fa.rclfor 15 kilometrés._

ﬁ@mwm iﬁﬁrﬁmwaﬁﬁlﬁﬁﬁﬁ ]

ﬁﬁ@mwﬁﬂwmﬁﬁﬁa%mzoﬁoﬁﬂr%aﬁuﬁfﬁﬁ%%ﬁ
11 %o ¥ 7 15%&?1?1#%%!&%1#@%%!

If fare of a car for first kilometre _is Rs. 720 and after that It_)r every kilometre is h

et (g, 1) AR, _1-,%#@%@ ................... Bt |

The 'djstant::e between the p.oints {— 2, - 1) and ("" 1, 1 }“’111 be. serararistearares

mﬁwaﬁqﬁﬁﬁwm ettt BT |

‘The locus' of the centre of rolling circle in a plane will be .....
UF foas @ o S ISRl S § | H § FH T Fd R A wie o, B
A coin js tossed

twicé.-The probability of getting at leést one head will be ........,

g - q
Section - B

L3

Find the square of 24 by using ‘Nikhilam Base-Sub-base’ method.
el THIET 3x? - 443 x + 4 = 0 1 fafawat T w1

Find the discriminaht of quadratic equation: :?{x2 ~4f3x+4=0.

%Q]Hﬂtﬂw 2x2 +x -1 = o%&ﬁ’iﬁﬁﬁfﬁﬁw '

. . 2
Find the nature of roots of quadratic equation 2x° +x -1 = g,
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15. tan? 60° + 3cosz'30°3ﬂnﬁﬁmaﬂﬁq |
F‘inci the value of tan? 60° + 3 cos 2 30°.
16. T FHGSA STHH | 1'5 HeX T BT F BT H A= 1 HE & R St g e o

T HHR T BTN 1 T 5 HeX & ol HAR 6l 918 7 BT |
The shadow of a 1'5 m tall student standing on a plane ground is found to be 1 5%
long and at the same time shadow of a tower on ground is 5 m long then find th
) e
height of the tower. B ‘
17. ¥l 3T 1 AD U% &9 & 3R ABTH SAiel & I?I&AD=34R§'EFT,AB=3O@E&% E
]
g0 & %% ¥ ABFI g T HIAT |
AD is a diameter of any circle and AB is chord. If AD = 34 cm, AB = 3,
' Cm, then find

the distance of AB from the centre of the circle.

18. 6-7%@@@%@@@@?@@@2:31?%&3% II
| ' IH\GWI

Draw a line segment-of length 67 cm and divide it into 2 - 3 int
' ' ernEllly

19, TF WY T 4 HeX S @H F W W o wo FHo o

S%Tgfq%%m%mﬁmﬁ%@w%%,wéﬁw ‘ T @ (
| .
ﬁfﬁﬂ?ﬁlhﬁr{ﬂﬁﬁﬁrﬂwmﬁml(ﬁs-lm %mgm

A CCTV camera has been installed on the top of 5 st
Taight
Pole of

‘ ; . o
such that forward traffic can be seen from the Jjne : Metre heigh
Ol sight of |

S

Metre

Of' erCLllar Path fOI‘med by unseen patCh al’()und th . Find the arﬂﬂ
€ pole

? ( = 3.14
5~()9“Mam5 )
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20. fog it i foreg (2, —2), (—2, 1)@ (s, 2 ) Tsh SISO 9 & o & |
e i e afy < Bl § B W Q) S RER WA & Ao I A
T TR & et G Bt we i |
Prove that the points (2, =2 ), (-2, 1)and (5, 2) are vertices of a right angled

triangle. _

OR

Prove that if two corresponding sides in two triangles are proportional and the

angles between them are also equal, the two triangles are similar.

21. A fog3T A (3, k) IR B(k 5)W fag P(0, 2) F AT =K &0 k H T 0
HifeT |

{ar

mﬁﬁqﬁﬁmﬁgﬂmwﬁﬂ% |

If points A (3, k) and B ( k, 5) are equidistant from a point P (0, 2 ), then find the

value of k,

OR

Prove that two equiangular triangles are similar.

Maths .
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m @qwmﬁ?ﬁmﬁfﬂmssﬁm% |§u%ama1ﬁaﬂt7iﬂaaﬁmw‘rw,

23.

Find the area of the square inscribed in a circle of radius 8

In the given figure, if 0a .

gan% lmﬁwﬁawmaﬁﬁrql

maﬁﬁq%auﬁﬁﬁuqﬁﬁa@?ﬁaﬁﬁmaﬁﬁéqﬁaﬁWﬁ amm’rfa-—g

_'wsﬂmwmﬁfmm% [

The radius of a c1rcu1a.r grassla.nd is 35 m. There is a footpath of width 7 m around

outsude of it. Find the area of the footpath

OR

Prove that in two concentric mrcles if the chord of Larger c1rcle touches the small
er

! one then the point of contact bisects the chord,

ﬁmgﬁq}aﬁwﬁ%wiﬁ@ﬁwmmﬁaﬁwéwmaﬁml
3reray
3 7% s 7, 4R 04 . o8- oC. OD%aTﬁ?aﬂﬁﬁNAA 4c343 2D

B
cm,
OR

OB=OC. OD, then prove that )
¥ 4’A=
* | c4Cand s £D
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Section - D

.' aﬁa‘fw’ri“@rqﬁiﬁm aﬂra%wﬁw% aﬁmaﬂfm 3

C T 29 ﬁﬁﬂﬁmﬁﬁwwmmoﬁwﬁyﬁaﬁmﬁwﬁgﬁ

of 44 cm fro

S--GlQt—Jr‘Id'cu‘hzs

measure the tangents and verify that they are equal.

OR
§-503

qﬁﬁﬁﬂ-ﬂﬁﬂ
1 |99 @Al 2
. ;.
o | & G 5T
4 3 3

13 s ol HATaad 5“"1 1 {r >
4 | Qe Bl YR FAEA o
5 et o FEA Jt-rzh
o | G TS S 2nrh
| it 1 gt A 2nr? -
s | et 71 ST _ 327"
o |t st = o g I anr?

' | | 2.
.10 | el R F AT il

Construct a circte with the centre O and radius 29 cm. Take a point P at a distance

m the centre and draw a pair of tangents to the circle from it Aiso
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Match the following -

1.' _Circuplference of the circle | ] A -ﬂ r?
2 Area of circle | | B %“"3 '
' 4 3_.3
3 | Volume of cylinder C13*n" -n i{n>r)
4 | Curved surface area of cylinder . D | 2ar _____________
| 5\I Volume of sphere - E |nr?h - |
6 | Curved surface area of hemisphere Flown |
7_| Surface area of sphere G (2 1;‘;_—____—____‘__* :
8 | Volume of hemisphere H | 3 m_?—““‘-——————____
9_| Total surface area of solid hemisphere I |4xr
10 | Volume of spherical shell : g (2,0

| 2x+3y=8
-x—2g)= -3
- gar
ﬁw%ﬁﬁaﬁaﬂmwaﬁaﬁaﬁaﬁﬁrmwﬁﬁm
2x+y = 6
4x-2y= 4 -

Solve the followiﬁg pair of linear equgtions by graphica] Methoq -
2+ 3y =8
x- 2Q = -3 .

| OR

Sclve ﬂ1e follo@g pan' of linear gquations by gr aphica] lne-thgd .

2k+y = 6

4x-2y= 4
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. Section -E
26. Ifc WARR S0 @1 991 | A0 17 &t T L 19 T 41 8, T 40 S 9K TG FIT
.
2 (cos? 45° + tan? 60°) =6 sin? 457 tan” 30°) T A T i |
|
ﬁ’:f ST §e 1 AT S A |
o N ) [ s0s0 | 506 60-70 70-80 | 80-90 | 90-100
W‘ -ﬁf . . I ' 10 ' _ 25" .I 28 . . 12 10 15
9 and 41 respectivel ‘ .
. ithmetic. Progl‘esswn are 1 pectively, then
If 6th and 17th tern:ls of an Arl _ _
find the 40th term
| OR .
o | o+ tan’ 60°) -6 (sin” 45° - tan? 30°).
Rind the value of 2 (%% | -
: , OR
o fre qﬁenCY distribution
R Find the mean © 70-80 | 80-90 | 90-100
10 | 15

Weignt {inkg)®

N°°fstud ts: _ ga}
en Mﬁﬁﬂ“’aﬁqﬁqﬂ"‘m( 8) maﬁﬂmwsﬁ
. Ry e 541 -
m?l' arext
4951“25iﬂe
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R , o
ArATEH : - 0-10 1020 | 20-30 30-40 | 40-50
T =Y e 4 28 | 4z - 20 6
. . |
if 3rd and 9th terms of an Arithmetic Progression are 4 ang (—-8) respectively, then
which term of 1t will be zero P ' _
OR

Prove that cos®6 - éin"'ﬁ = 1~2sin?g.
r OR
}( Find the median of the following frequency distributior :
} Marks obtained: | 0-10 | 19.20
f No. of students : 4 28 |

I - 08, mwﬁwﬁﬁﬁ_lﬁmﬁv(;

:-. ’ 1 1 - 9
_i: ﬁaaﬂﬁq% Tane t Tosng —25ec?0 A

ﬁww.ﬁmwwﬁwﬁﬁ:ﬁmﬁm%l:




15

Three numbers arg in Arithmetic Progression. If their sum is (-3 and prod
- . . roduct is 8,

then find the numbers. ) o :

OR
Prove that . 1, +—;-1:—- ;Qsecgﬁ' i
: " 14sin® 1-sin® : '
OR.
quency distribution by step deviation method : o

an 6f the following fre

Find the me










